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P weladd alllofcthe i numbers in. the sequence together

we have en infinife series.
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Definition: Tf we look at just the Pirst n terms in the

Serics, -Ha:shns called the n#hjparhal sum.
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Note that in either cuse, we are adding p the first

Yerms of Hie series. The only diBerence is e maﬁewnq :
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Nn—2>00

or does not exis b, Hun He series is said to be cfiver@en&.
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Remembcr we wont to Pind He Pfirgt Four terms copel

sum Hem,

Swied I e e

anmo)e 2, Use summation nofahon to wrife the series in

com pae t form.
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hrer oo at tHhe humerators, we see e,e ,6 /eq/egl e
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have " in the numerator,
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Firsy notice that each term alternates from = and +, So

4 will heve (V)" term, assuming. we shart e Sim

with n>|. Y |

Sewncﬂlv, the numeralor §  are Just powers of 5 S s

numerator will have 37,
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([ qum0|e3 Use summation notation 1o wrte the Series in
.compac b form.
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Definition: If 0¢lrlel, Yhen & . .n. a s a qeometric Sum, |
Yerimrion. / nZ;:oa. r = 9 |

W gt Conp . i
| nzal (QTQ
First we see thot n stards at | not 0. So leds pwpite the

um.,
[p%)
%( ar*( 3 ()
9 Y
ar(' *(55 *)
219 & 41
! 5" nz (w Bl
Cl’l{i(’,k P re ‘___ 3 beﬂ\/@en (’)C’lr‘Cl/ wh}chr} ISt S
22

apply the Pormula, el Gl
4 2 (_CL 9 = Yauiod. b Vado-wdll |
ad | £%9 1B/30. | =18




oLy 8

[ Wef see n20. So we :mméd@ﬁ,ly jump to checb(o:ﬂ 7.
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& vl
@ pq _-_-T-__- [T 2 s T nTia R Eg o €] aRRaa L BT e [ ik 7
: [11’\‘!' A SImsE o
| r”\“ we€ 566 hc’d o S}ari‘s cnt | Yhet 0,005, letls Tewrlle
‘H/\e, Sum . sk 3
AL MR T
R i i e
‘ i B Hafl ._3__-L‘§_Q 2ITINO 1T 40 fal
Rl ( i iR
2 .__‘?_)__ L+ 3).. -+ (,_%)a ) i i s
e‘f(‘ R s 0
! = DL (,:s_ 4 .
T %o y

S appy B e
B ( 3) A IRV A A B

;_ fresy 6\* N3 \ =3y \ " Yy 16
% A W

nzo \ A" 5’"

Firs’r i s rewrite hz Sum
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we can use, Hv, Pormula on each,
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